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Heolnsstn (B4l)
08g 212 (¥) 08 222 (3h) 08 232 (=) 088 242 (=) 088 252 (2)
- XEES0E TP A2 2ZH FH g SAFTRY(E) |- SABLY
-20eEE= -0 CHIER A2 |- 2RISR =l
(1)(5.6) (2)(17) (5.6.10.13.15.16.1[(5.6.9) (1.5.6.7.13.18)
=2t < HEH (1) (1) XIS F/H [8) < AAIXIOEHH RS YR DINERNFES
st Al Horet MM SS | &(10.13) N2 (2.5.6.10.12.13.15](9.10)
(5.6.10.13) - BYWOIRLE(5) - Soel k2! .16.18) - 252(5)
< HH=Z2IXI(9) ZHZOMMI (1) (1.5.6.15.16) - SAQLEF0|XI Z2ESE NI
- BEAE) =21 X1(9) - S22 X1(9) M (5.6.10.13) (1.2.5.6.12.13.15)
QAL XIS cHIETEFA(13) < HH=2IXI(9) 2+E71(9)
(2) Al
B AX =mR
oA Horet o oras o oras o oras o orat
=< Lo SE e
Ol A Xl (keal ) 900.00 | 900.00 3.2 979.5 884.5 903.0 924.5 954.3
B+ 312 (g) 54.0 95.0 119.5 118.6 51.1 127.0
Sre R (g) 21.25 21.25 20.4 41.5 65.5 37.5 31.2 55.1
X (g) 25.6 4.2 12.3 29.3 19.9 23.2
HIE+2IA(mg) 195.67 | 272.10 123.9 252.2 199.6 55.3 54.0 58.1
E10+2! (mg) 0.35 0.42 0.9 0.5 1.6 0.5 0.7 1.0
212 Z 2481 (mg) 0.45 0.53 0.5 0.9 0.4 0.5 0.4 0.5
HIE+2IC(mg) 25.54 32.50 13.0 7.8 25.2 6.3 20.1 5.8
2+ (ng) 249.04 | 303.57 124.8 160.6 163.5 64.9 60.5 174.7
4 = (mg) 3.54 4.48 4.5 4.5 3.7 3.4 1.7 9.2

x o YR = BAAAAHES] £10%, TR = BFIE(55~65%) @ WA (7~20%) : A HH(15~30%)
x 1g YR (kcal )= &3 4, @A 4, X9} 9kcal 2 &4
* 7 Hd AFHES €odiEH god7A e dSFY Fa YU

=
01. 95, 02.9%, 03.94, 04.%9%, 05. m% 06.%4, 07.3250], 08.7], 09.4]%-, 10.51#|2L7], 11.B%o}, 12.Ev}E, 13,0}
7.2.740], 18.&7]1%(%, A &g x39h), 19.3
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